
Séquence de Nombres Linéaires (C)Remplissez les nombres qui manquent de chaque nombre linéaire.
1. 414 464 489 514 539 589Différence commune:2. 226 326 376 426 526Différence commune:3. 98 598 698 998Différence commune:4. 793 868 893 943Différence commune:5. 186 286 436 586Différence commune:6. 338 413 488 713 788 863Différence commune:7. 874 889 904Différence commune:8. 372 472 522 622 672 722Différence commune: Mathslibres.com



Séquence de Nombres Linéaires (C) RéponsesRemplissez les nombres qui manquent de chaque nombre linéaire.
1. 389 414 439 464 489 514 539 564 589 614Différence commune: 252. 126 176 226 276 326 376 426 476 526 576Différence commune: 503. 98 198 298 398 498 598 698 798 898 998Différence commune: 1004. 743 768 793 818 843 868 893 918 943 968Différence commune: 255. 186 236 286 336 386 436 486 536 586 636Différence commune: 506. 263 338 413 488 563 638 713 788 863 938Différence commune: 757. 874 879 884 889 894 899 904 909 914 919Différence commune: 58. 322 372 422 472 522 572 622 672 722 772Différence commune: 50Mathslibres.com


